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Rl A (A) %

BPpe g kR ~COD ~ SS »
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4 (B)2 A k5B %

LER
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b5 (C)E 3 =0 TRl
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BESBE ~ 5 3 ~ By~ RE(T A Z AR s TR T
rE - ) R S TRERE g w»‘ £ 4£/%Cu~Hg~Pb~2Zn-~Cd -~
Ni~Cr)~As &> EPHESFZ 5 F-F c AFELPIELE ¢ B2 R 2 &
RITE R E T A RO RERE o ZplS %54 6 2 B 28~H 53 -
%6 LREABKTERS:REL
i) ao
7 B MDL | A. A Ax B. B: B C. C: Ca :ké
(% ) 3
pH - 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 82 [75-85
kiR (°C) - 293 | 293 | 292 | 291 | 292 | 292 | 293 | 292 [ 291 | —
% ¥ ¥ (mg/L) - 6.0 5.8 5.7 6.1 6.0 5.9 6.2 6.1 59 [ >5.0
By AWmL) | 10 | 43 56 | 4.8 5.7 5.4 7.8 6.5 9.6 8.5 —
@ /& (psu) - 334 | 334 | 334 | 334 | 334 | 335 | 334 | 335 [ 335 | —
S A () - 1.7 15 - - 14 - - —
475 F(mg/L)] 1.0 | 0.285 0.238 | 0481 | 0322 | 0437 | 0457 | 0174 | 0575 | 0292 | <30
fL§ﬁ$ g(mg/L)] 15 | 56 55 5.7 5.7 5.9 5.6 5.7 55 6.0
f%#k(mg/L) [ 0.002 | 0.024 | 0.028 | 0.023 | 0.026 | 0.028 | 0.028 | 0.033 | 0.032 | 0.031
& F (mg/L) 010 | 042 [ 039 | 042 | 043 | 050 | 045 | 044 | 057 | 0.78
% # (mg/L) 0.02 | <0.05 [ 0.09 | 0.10 | <0.05 | <0.05 | <0.05 | 0.05 | <0.05 | 0.05
@< § (mg/L) | 0.09 [ <0.50 | <0.50 [ <0.50 | <0.50 | <0.50 | <0.50 | <0.50 | 0.56 | 0.76
ApB(mg/L) | 0.06 | <0.22 | <0.22 | <0.22 | 0.04 | 0.05 | 006 | 002 | 006 [ 001 | —
L A 2 @ (mg/L) | 0.005 | 0.00 | 0.00 | 000 | 002 | 002 | 002 | 002 | 000 [ 002 | —
i "3 (mg/L) 10 | <10 | <10 [ <10 | <10 | <10 [ <10 | <10 [ <1.0 | <1.0 | 2
fps(mg/L)  [0.0009] N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. [ N.D. [ 0.01
< B A -
(CFU00mL) | <10 | <10 10 10  |4.4E+02(3.8E+02|2.5E+02| 1.4E+02 | 1.6E+02|1.1E+02
4 (mg/L) 0.0003 |<0.0020[<0.0020]<0.0020|<0.0020{<0.0020|<0.0020| <0.0020 |<0.0020[<0.0020| 0.05
4 (mg/L) 0.0002] ND [ ND. | ND. [ ND | ND [ ND | ND | ND [ N.D |0.005
g&(mg/L) 0.0050 |<0.0050[<0.0050]<0.0050|<0.0050{<0.0050|<0.0050| <0.0050 | <0.0050<0.0050| 0.05
A (mg/L)  ]0.00015] N.D. | N.D. | ND. [ N.D. | ND. [ N.D. | N.D. [ N.D. | N.D. [0.001
4 (mg/L) 0.0004 | 0.0003 | 0.0003 | 0.0002 | 0.0002 | 0.0003 | 0.0003 | 0.0002 | 0.0002 | 0.0002 | 0.03
4 (mg/L) 0.0004 | 0.0003 | 0.0003 | 0.0003 | 0.0003 | 0.0003 | 0.0003 | 0.0003 | 0.0004 | 0.0003 | —
4-(mg/L) 0.0004] ND. [ ND. | ND. | ND. | ND. [ ND. | ND. [ ND. [ ND. | 01
£ (ma/L) 0.0016 |<0.0050(<0.0050]<0.0050| 0.0011 | 0.0003 | 0.0013 | 0.0015 | 0.0013 | 0.0013 | 0.5
L% %
(mg/Ly |0-00003 N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
5 1900003| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
(mg/L)
4 11 10.00004) ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
s mgu
e ek
# | (mgly |-00005 N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
‘Efnﬁgjz; 0.00025<0.00025|<0.00025|<0.00025|<0.00025|<0.00025|<0.00025| <0.00025 [<0.00025(<0.00025| 0.1
- 1000004 N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
(mg/L)
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